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WS-16     Number system   
   

1. fJZe gYr-isPr gfow/: ;zfynk ns/ fJZe ngfow/: ;zfynk dk r[DBcb j?L  

The product of a non-zero rational and an irrational number is:

A)  jw/Pk ngfow/: always irrational   B)  jw/Pk gfow/: always rational

C)  gfow/: iK ngfow/: rational or irrational  D)  fJZe one 

2. ;zzfynk         dk gfow/:feqs o{g j?L Rationalised form of the number             is:   
 

 
  

A)  
   

 
   B)

  
  C)   D)

  

3. 
  

   
 dw dSmlv rUp ikho ijhw hovygw: (The decimal form of  

   
 is equal to....... ) 

A) 3.5                               B) 35.0                              C) 0.35                               D) 3500
 

  

4. 
 

 
dy hr dw pirmyXI krx krn qy swnMU pwR pq huMdw hY: (On rationalizing the denominator of

 

 
 we get .) 

A) 7              B)   7√      

5.    
 

  dw mùl = ……(The value of   is .....)

A) 8         B) 16    C) 32   D) 4  

6.  
 

dw Gwq AMk rUp …(The exponent form of  
 

 is.... ) 

A) 7      

7. hyTw idqy kQnW ivco ikhVw shI hY? (Which of the following is true)? 
 

A) hryk pUrn sMiKAw ie`k pRwikRiqk sMiKAw huMdI hY[(Every whole number is a natural number)

B) hryk sMpUrn sMiKAw ie`k pUrn sMiKAw huMdI hY[(Every integer is a whole number)

C) hryk pirmyX sMiKAw ie`k sMpUrn sMiKAw huMdI hY[(Every rational number is an integer)

D) hryk sMpUrn sMiKAw ie`k pirmyX sMiKAw huMdI hY[(Every integer is a rational number)

 

8.  dy hr dw pirmyXIkrx krn leI AsIN ies nMU guxw krWgy…

 To rationalize the denominator of 
  

we multiply this by........  
 

A) B)   

 
9.   Aqy    dy ivckwr pirmyX sMiKAwvW dI igxqI hY[ 

The number of rational numbers between and is) 

A) 1   B) 3   C) ienHW ivco koeI nhIN (None of these) D) 

10. hyT idiqAW iv`coN  n  dI iks kImq leI  ie`k pirmyX sMiKAw hY?

(The value of n for which   be a rational number is)  

A) 2  B) 4    C) 3    D) 5  

11. jykr    = 3.162 qW 
 

√  
 dw mu`l kI hovygw?( If    = 3.162 then the value of  is) 

A) 0.3162   B) 3.162      C) 31.62   D) 316.2 

 

√  √ 
 

1

5 2+

 

   
 

1

5 2+

5 2+

7

   

 
 

5 2-

21
 

   

 
 

5 2-

3
  

   

 
 

5 2-

10

35

100

35

100

1

√7

1

7

√

C)
√ 

 
  

7

7
D) 

√ 

 
 

7

7

1

264

7
3

7
3

3
B) 3   

7
  C) 7 

 

 
1

3 D) 3
 

  
 

 
1

7

5 3 

1

a +    b

 
1

a +    b

  
 

1

a +    b   
 

1

a -    b
 C)

  
 

a -    b

 
 

a -    b
D)

  
 

a -    b

 
 

a -    b

     5 3 

n

n

10
10

1 10
 

√  
 

10

1

   
 

  
1

264

WS-16(F)



12. iksy pirmyX sMiKAw nMU p/q dy rUp ivc drswaux leI jrUrI Srq ikhVI hY? 

What is the condition for which p/q represent a rational number?  

A) q≠0   B) q=0  C) p=0

 
13. hyT iliKAw iv`coN AsIN iks nMU pirmyX sMiKAw dy rUp ivc drsw skdy hW?  

A) pRwikRqk sMiKAw  B) pUrn sMiKAw    � C) sMpUrn sMiKAw   D) swrIAW

 Which of the following can be represents in the form of rational numbers…..  

A) Natural numbers     B) Whole numbers �       C) integers         D) all of these  

14. hyT iliKAw iv`co ikhVI ie`k ApirmyX sMiKAw hY? Which of the following is an irrational number?

A) 2.125  B) 2.125̅  

 15. pirmyX sMiKAwvW dw dSmlv ivsqwr ikho ijhw huMdw hY?  

A) ASWq AwvrqI       B) SWq    C) ASWq Ax -AwvrqI    D) SWq Aqy ASWq AwvrqI  

What is the decimal representation of rational numbers?

A) non-terminating     ����                           B) terminating 

C) non-terminating and non-recurring   D) terminating and non-terminating Recurring 

16. dw p/q rUp=……(p/q form of   0.235   ̅ ̅ ̅ ̅ =……)  

A)  
   

   
  B)

   

   
  C)

   
D)

17. hyT id`qIAW sMiKAwvW ivco ikhVI sMiKAw ApirmyX sMiKAw hY?  

From the following numbers which is an irrational number?

A) (3+   23)-   23  B) 2-   5  
 

18. hyT idiqAW iv`co ikhVI ApirmyX sMiKAW hY[

 

B) 5.723                        C)   225 D) 

 

19. 32
2/5 

mu`l pqw kro[Find the value of 32   .
2/5

 
A) 8 B) 4 C) 32 D) 16

20. 

 A) pirmyX sMiKAw(Rational Number) ���              B) ABwj sMiKAw (Prime Number)

C� ) ApirmyX sMiKAw(Irrational Numbner) ��       D) Bwj jMiKAw(Composite Number)

    

 

  
21. 2⁴ x 2¯⁷ dw mu`l pqw kro[  Find value of 2⁴ x 2¯⁷  

A)    B)  C)   

 

D)

C)    225                            D)   

 D) p  0  ≠

0.235   ̅ ̅ ̅ ̅

233
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235
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900
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999

C)   25 D)
  

  
 

7
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7

A)   23                        
   

   

 
5

7

5 ie`k ……… sMiKAw hY[ ( 5 is a …………………………. Number.)  
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WS-17 Polynomials, Coordinate Geometry, Linear Equa�on in One Variables   
Introduc�on to Euclid’s Geometry, Lines and Angles  

 

1. 4x³ + 3x² -4x -3  nMU  x-1 nwl Bwg krn qy BwgPl pqw kro [

   Find the quo�ent when 4x³ + 3x² -4x -3 is divided by x-1.  

A 2) 4x +3x+7 B 2) 4x +7x+3 C 2) 4x  – 7x+3 D 2) 4x  – 7x - 3

 
2. guxnKMf bxwa (Factorise): 3x²-10x+8

A) (x – 2)(3x – 4)   B) (x + 2)(3x – 4) C) (x – 2)(3x + 4)  D) (x + 2)(3x + 4)

 
3. jy p(x) = x²-2x+4 hY qW p(2) dw mu`l pqw kro[ If p(x) = x²-2x+4 , then find the value of p(2). 

A) 6    B) 8   C) 10
 

D) 4
 

4. k dw mu`l d`so jdo ik x = 2, y = 1, smIkrx 2x + 3y = k dw ie`k h`l hovy [ 

Find the value of k, if x = 2, y = 1 is a solution of the equation 2x + 3y = k.

A) 7  B) 5    C) 6   D) 9
 
5. 3y - 6 = 2x  nMU  ax + by + c = 0 nwl qulnw krn qy a dw mu`l hY:

 Comparing the equation 3y - 6 = 2x with ax + by + c = 0 the value of 'a' is:

    A) a = - 2  B) a = 3  C) a = -6         D) a = 2
 
6. hyT ilKIAW iv`coN ikhVw smIkrn 2x + y = 7 dw h`l hY?

Which one of the following  is a solution of equation 2x + y = 7? 

A) (7,0)  B) (0,2)  C) (0,0)  D) (3,1) 

7. mUl ibMdU dy inrdyS AMk kI huMdy hn ? What are the coordinate of origin?

          A) (x,0)  B) (0,y)  C) (0,0)   D) 0

 

8. auh ibMdU ik`Qy siQq huMdw hY ijsdy dovyN inrdyS AMk irxwqmk huMdy hn :  

A) pihlI cOQweI        B) qIjI cOQweI  C) x–Dury qy                         D) y–Dury qy

What is the position of point whose both coordinates having negative sign?  

 A) First quadrant     B) Third quadrant          C)on x-axis                                          D) on y axis

9. mUl ibMdU siQq huMdw hY : Origin lie on….  

A) pihlI cOQweI     B) isrP x-Dury 'qy �        C) isrP y-Dury 'qy �    D) x Aqy y donW DuirAW 'qy

A) First quadrant    B) On x-axis only     C) on y-axis only    D) both x-axis and  y axis

10.   x-Dury qy siQq iksy ibMdU dy inrdyS AMk kI huMdy hn[

What are the coordinates of any point lie on x-axis?

A) (x,0) B) (x,0)   C) (0,0)      D) (0,1)

11. lytvI Aqy KVvI ryKw qoN bxy smql dy hryk Bwg dy kI nW hY ?  

A) cOQweI  B) smql  C) x – Durw  D) y – Durw

What is the name of all parts made by horizontal and vertical line?

A) quadrant  B) Plane    C) x-axis   D) y-axis
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12.  y - Dury qy siQq iksy ibMdU dy inrdyS AMk kI huMdy hn?

What are the coordinates of any point lying on y -axis?

A) (x,0)  B) (0,y)   C) (0,0)    D) (1,0)

13. :{efbv dk Gkr dk f;XKs (Lemma) efjzdk j? fe d' XBkswe ;zg{oB ;zfynktK a ns/ b bJh, fJZE/ ftbZyD g{oB

;zfynktK q ns/ r nfijhnK jB fe a = bq + r j?, fiZE/ feL  Euclid's Division Lemma states that for two

positive integers a and b, there exist unique whole numbers q and r such that a = bq + r, where

 A) 0<r < a        B) 0<r <b  C) 0<r < b D)0<r < b 

14. ie`k ibMdU dy duAwly bxy koxW dw joV ikMnw huMdw hY?(The sum of angles around a point is…..)

  A) 0°    B) 90°  C) 180°  D) 360°

15. jy do smWqr ryKwvW nUM ie`k kwtvIN ryKw k`ty qW ikMny kox bxdy hn :

How many angles are formed when a transversal intersects two parallel lines?

A) 6    B) 3   C) 8  D) 4

16. do kwtvIAW ryKwvW duAwrw bxy…………… kox brwbr huMdy hn[  

A) ryKI joVW  ��          B) isKr snmu`K  �    C) sMgq kox        D) iekWqr kox

When two lines  intersect at a point then ............... angles are equal.

A) ryKI joVW  ��          B) isKr snmu`K  �    C) sMgq kox        D) iekWqr kox

17. jykr koeI ikrn iksy ryKw ‘qy KVI hY qW lwgvyN koxW dw joV kI huMdw hY?

 When a ray stand on a line then what is the sum of adjacent angles?

18. Measure of reflax angle =…… :(irPlYks kox dw mwp =……)
0   0 0  0  0 A)   90  �����                                                                      B)  0 Aqy  90 dy ivckwr(Between 0 and  90  )

0 0  0  0 0  0   0  0 C)  90  Aqy 180 dy ivckwr(Between 90 and180 )   D) 180 Aqy  360 dy ivckwr (Between 180 and360  )

 

19. do smWqr ryKwvW qy kwtvIN ryKw nwl bxy ie`ko pwsy dy AMdrly koxW dw joV ……… huMdw hY[

Sum of angles made on same side by transversal and two parallel lines are ................. ?

 

20. ic`qr iv`c,jy PQ ^�PS, PQ || SR, Ð�SQR = 28°Aqy�Ð�QRT = 65°  hY,qW x dw mu`l

pqw kro[ In Figure, if PQ ^�PS, PQ || SR, Ð�SQR = 28° and Ð�QRT = 65°,

then find the values of x.

21. id`qy gRwP iv`c smIkrx x - y = 2 dI ryKw y-Dury nUM iks ibMdU qy k`tdw hY? 

In given graph at which pointline of equation x - y = 2 cuts y-axis?

 

   

  A) 100°    B) 180°  C) 90°  D) 360°

  A) 100°    B) 180°  C) 90°  D) 360°

  A) 37°    B) 65°  C) 43°  D) 47°

A) (2,0)  B) (0,2)   C) (0,-2)    D) (-2,0)
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WS-18     Triangles, Quadrilaterals 

1. ienHW iv`co ikhVw iqRBuj dI srbMgsmqw dw inXm nhIN hY ?  

Which of the following is not a criterion for congruence of triangles?  

A) SAS                         B) ASA  

 
2. 

A) B ↔ R  B) C ↔ Q  C) A ↔ R  D) A ↔ P  

3. iqRBuj iv`c sB qoN v`fy kox dI snmu`K Bujw ……………. huMdI hY :

A) v`fI�  B) CotI   C) brwbr  D) iehnW iv`co nhI

 
The side opposite to the largest angle of a triangle is………

A) largest  B) smallest        C) equal            D) none of these 

4. jykr △ABC =  △PQR , qWAB=……………  

5.  smBujI iqRBuj dy hryk kox dw mwp ….huMdw hY[

Measure of each angle of an equilateral triangle is.............

6.  hyT ilKy iv`coN iqRBujW dI srbMgsmqw dw inXm ikhVw hY?

    Which of the following is a rule of congruence of triangles?  

7.  jy iqkox dw pirmwp 40 sm hovy Aqy do BujwvW 10 sm Aqy 14 sm hox qW qIjI Bujw pqw kro[  

If the perimeter of a triangle is 40 cm and two sides are 10 cm and 14 cm, then find its third side. 

8.  ABCD ie`k cqurBuj hY ijs iv`c AD = BC Aqy Ð�DAB = Ð�CBA hY[hyT ilKIAW iv`coN

ikhVw shI nhI hY?ABCD is a quadrilateral in which AD = BC and Ð�DAB =

Ð�CBA (see Fig.). Which of the following is not correct?

A) D�ABD @�D�BAC ���                   B) AB=CD

C) Ð�ABD = Ð�BAC ���                  D) BD = AC 

9.  ie`k cqurBuj dy iqMn kox 75º, 90º Aqy 75º hox qW cOQw kox kI hovygw ?

Three angles of a quadrilateral are 75º, 90º and 75º. What is the fourth angle?

10.  jy cqrBuj dy snmu`K koxW dw joV………hovy,qW ieh cqurBuj c`krI cqrBuj huMdI hY[

     If sum of two opposite angles of quadrilateral is ………then it is cyclic quadrilateral.

C) SSA D) SSS

i/ Δ ABC =  Δ PQR j?, sK j/m fbfynK ftZu'A fejVk ;jh j? <  

If Δ ABC =  Δ PQR , then which of the following is true?  

If  △ABC =  △PQR , then  AB=……………  

A) PQ   B) QR        C) QR           D) none of these

  A) 60°    B) 180°  C) 90°  D) 360°

A) SAS                  B) ASS C) SSA D) none of these

A) 24cm                B) 16cm C) 26cm D) 64cm

A) 140° B) 150° C) 120° D) 130°

A) 100° B) 180° C) 90° D) 360°

11.  smWqr cqrBuj dy lwgvyN koxW dw joV ikMnHw huMdw hY?  

 What is the sum of adjacent angles of a parallelogram?

A) 60° B) 180° C) 90° D) 360°
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12.  hyT ilKy cqurBjwvW iv`coN ikhVI smWqr cqrBuj nhI hY:  

A) smcqrBuj   B) vrg�   C) smlMb cqrBuj    ) Awieq   D  

      Which of following is not a parallelogram?  

A) Rhombus             B) Square      C) Trapezium            D) Rectangle  
 

13.  cqurBuj dy cwry koxW dw joV ikMnw huMdw hY ? What is the sum of four angles of a quadrilateral?

 14. hyT ilKy kQnW iv`co ikhVw kQn smWqr cqurBuj leI TIk nhIN hY[

A) snmu`K BujwvW brwbr huMdy hn ���               B) snmu`K kox brwbr huMdy hn 

C) ivkrn ie~k dUjy qy lMb huMdy hn  ��       D) ivkrn ie~k dUjy nUM smduBwijq krdy hn
 

Which statement is not true for a parallelogram.

A) opposite sides are equal   ���                                         B) opposite angles are equal

C) diagonals are perpendicular to each other             D) diagonals bisect each other

15. jykr ∆PQR iv`c ÐR>ÐQ qW: In ∆PQR if 

 A) QR>PR   B  ) PQ<PR   C) PR<PQ   D) PR>QR 

16.  

QR=4cm,PR=5cm then �ind the value of PQ.

 

pRSn 17 qoN 20

fdZs/ rJ/ fuZso ftZu,∆ PQC ਅਤੇ ∆PRC ਿਵੱਚ QC = PR ਅਤੇ  PQ = CR,ਤਾਂ ਸਹੀ ਚੁਣੋ  :

In the given figure, in ∆PQC and ∆PRC, QC = PR and PQ = CR. then pick correct:

17. A)
 

18.  A) PCQ=Ð ÐCQR   

 
19. A) PQC= PCRÐ Ð 
 

20. A) PC=R� C  

 

21.   jy iek smWqr cqurBuj ivc ies dy ivkrx iek dUjy ƒ smkoxW 'qy vMfdy hn Aqy smwn huMdy hn, qW ieh hY:

If in a parallelogram its diagonals bisect each other at right angles and are equal, then it is a 

A) vrg Square   B) Awieq Rectangle �   C) smcqurBuj Rhombus �   D) smWqr cqurBuj Parallelogram  

  A) 60°    B) 180°  C) 90°  D) 360°

jykr ∆ABC  iv`c  ÐP=ÐR  , QR=4cm,PR=5cm qW PQ dw mu`l pqw kro[In ∆ACB if ÐP=ÐR,

A) 2cm                B) 3cm C) 4cm D) 5cm

 

 B) PCQ=Ð ÐCPR  

 B) PQC= CQRÐ Ð  

 B) PC=QC  

B)△PQC = △PRC   △PQC = △CRP  

D) PCQ=Ð ÐPCR

D) PQC= CPRÐ Ð

D) PQ = CR  

D)△PQC = △PCR   

C) PCQ=  Ð ÐCRP

C) PQC= PRC Ð Ð

C) QC=RC

C) △PQC = △RPC  
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WS-19

  

Circles, Areas of Parallelograms and Triangles

1. fdZs/ rJ/ fuZso ftZu,  uZeo dk e/Ado j?. i/ ÐOAB = 50°, sK ÐACB pokpo j?L      

 In the given figure, O is the centre of the circle. If ÐOAB = 50° then ÐOAB is equal to

 

2. fdZs/ rJ/ fuZso ftZu, ABCD fJZe uZeoh us[oG[i[i j?.i/�ÐADC = 130° sK ÐCBA pokpo j?L  

In the given figure,ABCD is a cyclic quadrilateral. If ÐADC = 130° then ÐCBA is equal to  

3.. fdZs/ rJ/ fuZso ftZu, d' ihtktK AB ns/ CE,fpzd{ P 's/ go;go bzp jB. i/eo

ÐADC = 130° ns/ BC = BE j? sK�ÐCBE pokpo j? L

In the given figure, AB and CE are two chords perpendicular to each other at P. If 

ÐADC = 130° and BC = BE, then ÐCBE is equal to 

  

4. fdZs/ rJ/ fuZso ftZu, O T[; uZeo dk e/Ado j? fi; dk ftnk; AD = 34cm j?. 

In the given figure, O is the centre of a circle w diameter AD = 34 cm.

5. fdZs/ rJ/ fuZso ftZu, O uZeo dk e/Ado j?. i/ ÐAOB = 90° ns/ ÐABC = 30°  

sK�ÐCAB pokpo j?L  In the given figure, O is the centre of the circle. If AOB = 90°and  

ÐABC= 30°, then ÐCAB is equal to 

6. AB, e/Ado O tkb/ uZeo dk ftnk; j? ns/ P uZeo ‘s/ e'Jh fpzd{ j?. i/ ÐAOB = 60° 

sK ÐPBA pokpo j?L AB is a diameter of a circle with centre O and P is any point on the circle. 
If�ÐPAB = 60°, then ÐPBA is equal to

7. fdZs/ rJ/ fuZso ftZu, AB ns/ AC e/Ado O tkb/ fJZe uZeo dhnK pokpo jIvwvW jB. i

 ÐAOB =100° sK ÐAOC pokpo j?L In the given figure, AB and AC are equal chords of a 

 circle with the centre O. If ÐAOB =100°, then ÐAOCis equal to: 

 

8. d' ;opzr;w uZeoK dhnK tsoK (Arcs), nB[;koh e/AdoK 's/ eqwtko 60°ns/ 20°dk e'D

pDkT[[AdhnK jB. fJjBK nB[;koh tsoK dh bzpkJhnK dk nB[gks j?L 

Arcs of two congruent circles subtend angles of 60° and 20° at their respec�ve centres. 

The ra�o of lengths of corresponding arcs is: 

 

9. fdZs/ rJ/ fuZso ftZu, O uZeo dk e/Ado j?, i/ ÐACB = 30° j??, sK ÐAOB pokpo j?L  

  A) 40°    B) 50°  C) 60°  D) 80°

  A) 40°    B) 50°  C) 80°  D) 90°

  A) 95°    B) 100°  C) 120°  D) 130°

I/ AB=30cm ns/ OC    AB,j? sK OC =

If AB = 30 cm and OC    AB, then OC =

A) 4cm                B) 8cm C) 15cm D) 17cm

  A) 90°    B) 105°  C) 120°  D) 130°

A) 30° B) 45° C) 60° D) 90°

  A) 100°    B) 120°  C) 140° D) 170°

  A) 2 : 1    B) 1 : 3  C) 3 : 1 D) 1 : 2

In given figure O is the Centre of the circle, If ÐACB = 30°, then ÐAOB is equal to  
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10. ABCD fJZe uZeoh us[oG[i j??. i/ ÐABC = 70° j??, sK ÐADC pokpo j?L

ABCD is a cyclic quadrilateral. If ÐABC = 70° then ÐADC is equal to 

 

11. I/ ÐAOB = 90° Aqy ÐABC= 30° qw ÐCAB pokpo j?L 

In the given figure, O is the centre of the circle. If ÐAOB = 90° and ÐABC = 30°, then

ÐCAB is equal to

12. ਿਕਸੇ ਚ`ਕਰ ਦੇ ਚਾਪ ਅਤੇ ......... ਿਵਚਕਾਰ ਖੇਤਰ ਨੰੂ ਚਕਰੀਖੰਡ ਆਖਦੇ ਹਨ . The region between an arc and __________ 

of the circle is called the Segment of a circle. 

 

13. c`kr dI sB qoN v`fI jIvw nMU ……kihMdy hn[.Largest chord of a circle is called ...............

 14. jy cwp  AB  kyNdr qy 60°dw kox bxwvy qW c`kr qy siQq ibMdU qy ikhVw kox bxwvygw[

If an arc AB form angle 60° at the centre of a circle,then  findthe angle form by this arc at any point

on the circle. 

 

15. G[ik 8 cmtkb/ fJZe ;wG[i fse'D dh T[Z[ZukJh j?LThe altitude of an equilateral triangle of side 8 cm is

 

16. fJZe ;wusoG[i d/ fteoDK dh bzpkJh 16 cmns/ 12 cmj?. ;wus[oG[i dh G[ik j?L

The lengths of the diagonals of a rhombus are 16 cm and 12 cm. The side of therhombus is

 
17. fJZe ;w us[oG[I dk fJZe fteoD 24 cm j? ns/ fJ;dh G[ik 13 cm j? qW d{{i/ fteoD dh bzpkJh 

pqw kro[ One diagonal of a rhombus is 24 cm and its side is 13 cm. Then find the

length of second diagonal.  

 
18.

2If the area of an equilateral triangle is 16   3 cm , then find the perimeter of the triangle. 

 

19. ABCD ie`k smWqr cqurBuj hY[AE    DC Aqy CF    AD hY[jykr AB = 16cm, AE = 8cm Aqy CF = 10cm hovy   

qW AD pqw kro[In a parallelogram ABCD, AE    DC, CF    AD and if AB = 16cm, AE = 8cm and

 CF = 10cm, then Find AD.  

  A) 20°    B) 70°  C) 110° D) 140°

  A) 90°    B) 105°  C) 120° D) 130°

  A) kyNdr centre   B) ArDivAws radius   C) ivAws diameter        D) jIvw chord

  A) kyNdr centre   B) ArDivAws radius   C) ivAws diameter        D) Sprs ryKw tangent

  A) 60°    B) 120°  C) 30° D) 90°

B) 4   2cm                  C) 4   3cm D)  6   3cmA) 4cm 

A) 6cm                B) 8cm C) 10cm D) 14cm

A) 5cm                B) 10cm C) 12cm D) 15cm

	 2I/ fJZe ;wG[ih fsqG[i dk y/socb 16   3 sm  j? sK fsqG[i dk gfowkg pqw kro[ 

A) 8cm                B) 16cm C) 24cm D) 32cm

A) 14cm                B) 18cm C) 12.8cm D) 14.6cm
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WS-20 Heron's Formula, Surface Areas and Volumes, Sta�s�cs, Probability

1. ie`k iqkoxkwr pwrk dIAW BujwvW  11 m , 15 m Aqy 14 m hn[iesdw 'S' pqw kro[

A triangular park has sides 11 m , 15 m  and 14 m . find its 'S'.

 

2. ie`k iqRBuj dI BujwvW dw Anupwq 3:4:5 hY Aqy ausdw pirmwp 60mI hY[ies iqRBuj dw KyqrPl pqw kro[

Sides of a triangle are in the ratio of 3:4:5 and its  perimeter is 60m. Find area of this triangle.

 

3. fJZe Pze{ d/ nXko dk noXftnk; 6 cm j? ns/ fJ; dh T[Z[ZukJh 8 cm j?. fJ; dh teo ;sQk dk y/socb pqw kro[

       The radius of the base of a cone is 6 cm and its height is 8 cm. find its curved surface area.

 

4. I/ fJZe bzp uZeoh f;bzvo dk ftnk; 10 cmns/ T[Z[ZukJh 4cm j? sK fJ;dh e[Z[Zb ;sQk dk y/socb pqw kro[

If the diameter of a right circular cylinder is 10 cm and height is 4 cm, then find its total surface area.

 

5. 
2

If the surface area of a sphere is 324   cm , then find its volume. 

 

6. 

The height and radius of a cone are 14 cm and 6 cm respec�vely. find the volume o�he cone.

 

7. 7 cm noXftnk; ns/ ½cm w'NkJh tkbhnK 50 fv;eK, fJZe T[Z[Zgo fJZe, m'; bzp uZeoh f;bzvo

        

50 circular discs each of radius 7 cm and thickness ½ cm are placed one above the other to form a solid right 

circular cylinder. Find the curved surface area of the cylinder so formed.

 

8. Cydk ryKw dy smWqr sprS ryKwvW dI igxqI ……… huMdI hY[

Number of tangents to a circle which are parallel to a secant is/are………….

 

9. fJZe bzp uZeoh Pze{ dh fsoSh T[Z[ZukJh 16 cm ns/ nkXko dk ftnk; 14 cm j?. fJ; dh teo ;sQk dk y/socb pqw 

kro[(   =     ਲਵੋ)

Find the curved surface area of a right circular cone, with slant height 16 cm and base diameter 

14 cm.(Take    = 22/7)  

10. 5,13,9,11,7,16,8 dI m`iDkw pqw kro[Find median of 5,13,9,11,7,16,8.

A) 40m                B) 20m C) 77m D) 105m

A)                 
2 40m  B) 

2150m C) 
2300m D) 

2600m

A)                 2 36cm  B) 248cm C) 260cm D) 272cm

A)                 
2

 40cm  B) 
2

65cm C) 
2

90cm D) 
2

120cm

2 
I/ fJZe r'b/ dh ;sQk dk y/socb 324  cm j?, sK fJ;dk nkfJsB pqw kro[    

A)                 3 972   cm B) 3960   cm C) 3729   cm D) 3546.75   cm

fJZe e'x dh T[Z[ZukJh ns/ noXftnk; eqwtko 14 cmns/ 6 cmj?. e'x dk nkfJsB pqw kro[(   =     ਲਵ)ੋ 
   
  

22

7

A)                3 132 cm B) 3264 cm C) 3528 cm D) 31584 cm

pBkT[D bJh oZyhnK jB. fJ; soQK pD/ f;bzvo dh teo ;sQk dk y/socb pqw kro[(   =     ਲਵ)ੋ 
   
  

22

7

A)                 
2

 1408cm  B) 
2

1100cm C) 
2

704cm D) 
2

550cm

A)               1 B) 2 C) koeInhI( none) D) AnMq(infinite)

 
   
  

22

7

A)                 2 112cm  B) 2224cm C) 2352cm D) 2704cm

A) 8              B) 9 C) 11 D) 8.5
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11.  i//eo fJZe m''; f;bzvo dk noXftnk; ns/ T[Z[ZukJh eqqwtko 7 cmns/ 30 cmj?, sK f;bzvo dk nkfJsB pqw kro[

(   =     ਲਵੋ) If the radius and height of a solid cylinder are 7 cm and 30 cm respectively, then find the

 

 

12.  2,5,9,11,17,18,19,7 dw m`Dmwn pqw kro[Find mean of 2,5,9,11,17,18,19,7.

 13. hyTw id`qI swrxI iv`c 400 in~Awn lYNpW dy jIvn kwl id`qy gey hn:

The following table gives the life times of 400 neon lamps:

ikMnHy lYNpW dw jIvn kwl 600 GMitAW qoN ijAwdw Aqy 600 GMitAW q`k kRmvwr hY: How many lamps have a life 

time of more than 600 hours and till 600 hours respectively?

 

14. iksy Gtnw dy vwprn dI sMBwvnw huMdI hY?What is probability of occurance an event E?  

A)  P(E)=1   B)  0≤P(E)≤1 C) 0   D) P(E)≥1

 

15.  If P(E)= 0.25 then P(not E)                     

jy P(E)= 0.25  qW P(E nhI) dw mu`l hovygw :                   

 

16.  If the probability of occurance an event is 45%. Then what is the probability of it's non- occurance?

 iksy Gtnw dy vwprn dI sMBwvnw 45% hY qW aus Gtnw dy nw vwprn dI sMBwvnw ikMnI hovygI?

 

17. cMgI qrHW PYNtI qwS dI gu`tI iv̀co rwjw k̀Fx dI sMBwvnw pqw kro[  

Find probability of ge�ng king from deck of playing cards. 

 

18. pwsw su`tx qy Bwj sMiKAw Awaux dI sMBwvnw d`so[ Probability of ge�ng a composite number on tossing a dice.

 

19. ie`k pwsy nUM ie`k vwr su`itAw jWdw hY[ie`k ABwj sMiKAw Awaux dI sMBwvnw pqw kro[

What is the probability of getting a prime number when a dice  is thrown once?

 
 

20.  ਸਭ ਤ� ਲੰਬy ਖੰਭy dI lMbweI dso ijs ƒ iek kmry iv`c riKAw jw skdw hY ijs dI lM: = 10 ਮੀ, co: = 10 ਮੀ ਅਤੇ 

au: = 5 mI What is the longest pole that can be put in a room of dimensions l = 10 m, b = 10 m . 

and h = 5 m 

            

 
   
  

22
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volume of the cylinder. (Take(   =     ਲਵ)ੋ 
   
  

22
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A)                3
 660 cm B) 3

1320 cm C) 3
2310 cm D) 3

4620 cm

A) 10              B) 11 C) 17 D) 8

Life time (in hours)  

jIvn kwl (GMitAW iv`c) 300 – 400

   

400 - 500 

   

 

   

Number of lamps 
( lYNpW sI sMiKAW) 

14
 

56
 

60
 

86
 

74
 

62
 

48
 

500 - 600 600 - 700 700 - 800 800 - 900 900 - 1000 

A)               130,270 B) 60,86 C) 270,130 D) 86,60

A) 0.5              B) 1 C) 0 D) 0.75

A) 0.45              B) 1 C) 0.55 D) 0

A)               1/6     B) 1 C) 1/2    D) 1/3     

     

A)  
   

  B)
   

C) D)
2

6
 
   

 
   

   
   

    
1

6
 
   3

6
 
   
 
   0

6

A) 10m                B) 15m C) 20m D) 25m
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A)  
   

  B)
   

C) D)
1

13
 
   

 
   

     
   4

13

2

13

1

52
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